Example 2 For each function f (x), determine the equation for g(x).
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({ . MCR3U Vertical and Horizontal Stretches and Compressions

Vertical Stretch and Compressions: Comparing functions of the form y —FCD(_) and y Q.‘FC?( )
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Create the table of values for the given functions and graph them on the same rl:I. @
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Mapping Notation: _FC )
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How you say it (State the transformations);
Y= 3x*
Example 1 For function what is the base function?
Describe the transformation. Graph It.
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Example 2 For functlon what is the base function?
Describe the transfarmation. Graph it.
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Vertical Stretch and Compressions: Comparing functions of the form and

Ve
Create the table of values for the given functions and graph them on the same grid,
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(’,T\,E Mapping Notation:
To show the change in in mapping notation we would write

How you say it (State the transformations):

Example 1 For function , what is the base function?
Describe the transformation. Graph it.
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Example 2 For function , what is the base function?
Describe the transformation. Graph it.
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